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1. The Scientific method used for collecting, organizing, summarizing, presenting and 
analyzing data as well as to derive valid conclusions and making reasonable decisions is 

(A) Mathematics   (B) Statistics  

(C) Physical Science   (D) Astronomy  

ÂÁμ[PøÍ ÷\P›zx, öuõSzx AÎ¨£xhß, £S¨£õ´Âß Ai¨£øh°À uUP Põμnzxhß 

\›¯õÚ •iÄPÒ ÷©ØöPõÒÍ EuÄ® AÔÂ¯À•øÓ 

(A) PouÂ¯À   (B) ¦ÒÎ°¯À  

(C) C¯Ø¤¯À   (D) ÁõÚÂ¯À 

2. Sampling is inevitable in the following situations 

(i) Counting micro-organisms in the Oceans 

(ii)  To count the Population of India 

(iii) To count the number of shops in Chennai  

(iv)  During the blood test 

(A) (i), (ii)   (B) (i), (iii)  

(C) (iii), (iv)   (D) (i), (iv)  

©õv›U Po¨¦ Gß£x RÌPshÁØÖÒ GøÁ/Gx uÂºUP •i¯õu `Ì{ø»²øh¯x. 

(i) Ph¼¾ÒÍ ~sq°ºPøÍ Gsq® ÷£õx 

(ii)  |õmiß ©UPÒ öuõøPø¯ PnUQk® ÷£õx 

(iii) ö\ßøÚ°¾ÒÍ PøhPÎß GsoUøPø¯ PnUQk® ÷£õx 

(iv)  Cμzu £›÷\õuøÚ°ß ÷£õx 

(A) (i), (ii)   (B) (i), (iii)  

(C) (iii), (iv)   (D) (i), (iv) 

3. Formula to Calculate the Sampling interval in Systematic Sampling 

(A) Population Size/sample Size  

(B) Sample Size/Population Size  

(C) Population Size  Sample Size  

(D) Population Size + Sample Size  

•øÓ \õº¢u ©õv› Gkzu¼À CøhöÁÎ PoUQh EuÄ® Áõ´¨£õk. 

(A) •Êø©z öuõSv°ß AÍÄ / ©õv›°ß AÍÄ  

(B) ©õv›°ß AÍÄ /•Êø©z öuõSv°ß AÍÄ  

(C) •Êø©z öuõSv°ß AÍÄ  ©õv›°ß AÍÄ    

(D) •Êø©z öuõSv°ß AÍÄ + ©õv›°ß AÍÄ 
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4. The Primary data can be collected 

(A) Personal/Oral Interviews methods (B) Questionnaire Method  

(C) Published sources  (D) Both (A) and (B)  

•uÀ {ø» Â£μ[PøÍ RÌPsh G¢u •øÓPÎÀ ÷\P›UP»õ® 

(A) ÷|μi/©øÓ•P Áõ´ö©õÈ •øÓ (B) ÂÍUP® £mi¯À •øÓ  

(C) öÁÎ°h¨£mh Buõμ[PÒ (D) (A) ©ØÖ® (B) Cμsk® 

5. If the lower and upper limits of a class are 110 and 150 respectively, then the range of the 
class is 

(A) 150   (B) 110  

(C) 40   (D) 20  

J¸ ¤›Âß RÌ, ÷©À GÀø» •øÓ÷¯ 110, 150 GÛÀ Auß Ãa_ 

(A) 150   (B) 110  

(C) 40   (D) 20 

6. Number of observations falling with in a particular class interval is called 

(A) Frequency   (B) Mid Value  

(C) Interval   (D) Range  

J¸ SÔ¨¤mh ¤›Ä CøhöÁÎ°À QøhUS® GsoUøP Gß£x A¨¤›Âß 

(A) Aø»öÁs   (B) ø©¯ ©v¨¦  

(C) CøhöÁÎ   (D) Ãa_   

7. Sturges rule for number of classes is (N-total number of observation) 

(A) 1 + 3.322 log10 N   (B) 1 + 3.324 log10 N  

(C) 1 + 3.326 log10 N   (D) 1 + 3.328 log10 N  

ìhºáêß CøhöÁÎ Áõ´¨£õk (N-AÍÄPÎß ö©õzu GsoUøP) 

(A) 1 + 3.322 log10 N   (B) 1 + 3.324 log10 N  
(C) 1 + 3.326 log10 N   (D) 1 + 3.328 log10 N  

8. One-dimensional data can be represented in 

(A) Line diagram   (B) Pie diagram  

(C) Bar diagram   (D)  Both (A) and (C) 

J¸ £›©õn AÍÄPøÍ ÂÍUP¨ £¯ß£kÁx 

(A) ÷Põmk ÂÍUP£h®  (B) Ámh ÂÍUP¨£h®  

(C) £møh ÂÍUP¨£h®  (D) (A) ©ØÖ® (C) Cμsk®  
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9. Pie diagram is 

(A) One dimensional  (B) Two dimensional  

(C) Three dimensional  (D) Four dimensional  

Ámh ÂÍUP¨£h® Gß£x 

(A) J¸ £›©õn®   (B) C¸ £›©õn®  

(C) •¨£›©õn®   (D) |õßS £›©õn®  

10. The intersection point of more than type and less than type Ogives is 

(A) Mean   (B) Median  

(C) Mode   (D) Origin  

J¸ £μÁ¼ß RÇÚ ÁÍº ©ØÖ® ÷©¼Ú ÁÍº KøPÆPÒ öÁmiU öPõÒÐ® Ch® 

(A) \μõ\›   (B) Cøh{ø»  

(C) •Pk   (D) Bv  

11. Choose the Correct statement 

(A) Arithmetic Mean = Geometric Mean = Harmonic Mean 

(B) Arithmetic Mean   Geometric Mean   Harmonic Mean  

(C) Arithmetic Mean   Geometric Mean   Harmonic Mean    

(D) Arithmetic Mean = Geometric Mean   Harmonic Mean  

\›¯õÚ TØøÓ ÷uº¢öuk 

(A) Tmka \μõ\› = ö£¸US \μõ\› = Cø\a \μõ\› 

(B) Tmka \μõ\›   ö£¸US \μõ\›   Cø\a \μõ\›  

(C) Tmka \μõ\›   ö£¸US \μõ\›   Cø\a \μõ\› 

(D) Tmka \μõ\› = ö£¸US \μõ\›   Cø\a \μõ\› 

12. Mean, Median, Mode of 2, 10, 19, 25, 10, 8, 10 are 

(A) 12, 10, 10   (B) 10, 12, 10  

(C) 10, 10, 12   (D) 10, 10, 10  

2, 10, 19, 25, 10, 8, 10 ß \μõ\›, Cøh{ø», •Pk •øÓ÷¯ 

(A) 12, 10, 10   (B) 10, 12, 10  

(C) 10, 10, 12   (D) 10, 10, 10  
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13. Arithmetic Mean of first ‘n’ natural numbers is 

(A) 
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•uÀ ‘n’ C¯À GsPÎß Tmka \μõ\› 
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14. In a distribution standard division is 10 all the observations multiplied by 5 would give a 
result in standard deviation 
(A) 5   (B) 10  
(C) 15   (D) 50  

J¸ £μÁ¼ß vmh Â»UP® 10 GÀ»õ ©v¨¦PøÍ²® 5 ö£¸UQ¯¤ß QøhUS® vmh Â»UPzvß 

©v¨¦ 

(A) 5   (B) 10  
(C) 15   (D) 50  

15. Standard deviation of 3, 3, 3, 3, 3, 3 is 
(A) 6   (B) 3 
(C) 1   (D) 0  

3, 3, 3, 3, 3, 3 BQ¯ ©v¨¦PÎß vmh Â»UP® 

(A) 6   (B) 3 
(C) 1   (D) 0 

16. The 2  value of Mesokurtic distribution is 

(A) 02     (B) 32    

(C) 32     (D) 32    

C¯À {ø» ÁøÍÁøμ°ß 2  ©v¨¦ 

(A) 02     (B) 32    

(C) 32     (D) 32     

17. Sum of deviation from the mean is 
(A) –1   (B) 0  
(C) 1   (D)    

\μõ\›°¼¸¢x GkUP¨£mh Â»UP[PÎß TmkzöuõøP 

(A) –1   (B) 0  
(C) 1   (D)     
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18. If the correlation co-efficient is zero then COV (X, Y) is 
(A) –1   (B) 0  
(C) 1   (D) 1   

JmkÓÄU öPÊ §ä¯® GÛÀ COV (X, Y) ©v¨¦ 

(A) –1   (B) 0  
(C) 1   (D) 1   

19. If COV (X, Y) = YX  then the value of the correlation co-efficient is 

(A) r = –1   (B) r = 0  
(C) r = 1   (D) r = 1   

COV (X, Y) = YX  GÛÀ JmkÓÄU öPÊÂß ©v¨¦ 

(A) r = –1   (B) r = 0  
(C) r = 1   (D) r = 1    

20. Multiplication of two regression co-efficients xyb  and yxb  is 

(A) r    (B) 2r   
(C) 1   (D) r   

C¸ Ehß öuõhº¦¨ ÷£õUSU öPÊUPÒ xyb  ©ØÖ® yxb  CÁØÔß ö£¸USz öuõøP 

(A) r    (B) 2r   
(C) 1   (D) r  

21. Given the two regression lines as 0843  YX  and 0134  YX , the means of X and Y
are 
(A) 3, 4   (B) 2, 2  

(C) 4/3, 5/3   (D) 4, 5  

C¸ Ehß öuõhº¦¨ ÷£õUSU ÷PõkPÒ 0843  YX  ©ØÖ® 0134  YX  GÛÀ X ©ØÖ® Y 
Tmka \μõ\› 

(A) 3, 4   (B) 2, 2  
(C) 4/3, 5/3   (D) 4, 5 

22. The lines of regression intersect at the point 
(A)  YX ,    (B) (0, 0)  

(C)  YX ,    (D) (1, 1)  

C¸ Ehß öuõhº¦¨ ÷£õUSU ÷PõkPÒ JßøÓö¯õßÖ öÁmiU öPõÒÐ® ¦ÒÎ¯õÚx 

(A)  YX ,    (B) (0, 0)  

(C)  YX ,    (D) (1, 1) 
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23. A and B are two mutually executive events,   12/3AP  and   3/1BP  then the value of 
 BAP   is 

(A) 11/12   (B) 7/12  
(C) 1/12   (D) 0  

A ©ØÖ® B JßøÓö¯õßÖ Â»US® {PÌa]PÒ,   12/3AP  ©ØÖ®   3/1BP  GÛÀ 

 BAP  &ß ©v¨¦ 

(A) 11/12   (B) 7/12  
(C) 1/12   (D) 0 

24. Probability of an impossible event 
(A) 0   (B) 1/12  
(C) 1   (D) [0, 1]  

|hUP C¯»õu {PÌa]°ß {PÌ uPÄ 

(A) 0   (B) 1/12  
(C) 1   (D) [0, 1]   

25. A continuous random variable x  follows the rule   2Kxxf  , 10  x , then the value of K  is 

(A) 1   (B) 2  
(C) 3   (D) 4  

J¸ öuõhº \©Áõ´¨¦ ©õÔ x  Gß£x   2Kxxf  , 10  x  GßÓ {£¢uøÚUSm£mk {PÌuPÄ 

Ahºzva \õº¦ GÛÀ K &ß ©v¨¦ 

(A) 1   (B) 2  
(C) 3   (D) 4 

26. Variance of the random variable X is 

(A)     22 XEXE     (B)  2XE   

(C)   2XE    (D)     22 XEXE    

\©Áõ´¨¦ ©õÔ X&ß ©õÖ£õmhÍøÁ 

(A)     22 XEXE     (B)  2XE   

(C)   2XE    (D)     22 XEXE   

27. In a binomial distribution  pnB , , 4n , 3/1p  then its mean and variance are 

(A) 4/3, 8/9   (B) 3/4, 9/8  
(C) 3/4, 8/9   (D) 4/3, 9/8  

J¸ D¸Ö¨¦ £μÁ¼ß  pnB , , 4n , 3/1p  GÛÀ Auß \μõ\› ©ØÖ® ©õÖ£õmhÍøÁ 

(A) 4/3, 8/9   (B) 3/4, 9/8  

(C) 3/4, 8/9   (D) 4/3, 9/8 
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28. Mean of a Poisson distribution is 4, then its standard deviation 
(A) 1/4   (B) 1/2  
(C) 2   (D) 4 

£õ´\õß £μÁ¼ß \μõ\› 4 GÛÀ Auß vmh Â»UP® 

(A) 1/4   (B) 1/2  
(C) 2   (D) 4 

29. Student’s t-distribution was given by 
(A) Bernoulli   (B) Black well  
(C) R.A. Fisher   (D) W.S. Gosset 

ìkhsm i&£μÁø» AÔ•P¨£kzv¯Áº 

(A) ö£ºöÚõ¼   (B) ¤ÍõUöÁÀ  

(C) R.A. ¤åº   (D) W.S. ÷Põåm  

30. Moment generating function of Chi-Square distribution is 

(A)   2/21 nit    (B)   2/21 nt   

(C)   2/21 nit     (D)   2/21 nt    

øP ÁºUP¨ £μÁ¼ß Â»UP¨ ö£¸USz öuõøP E¸ÁõUP® \õº¦ 

(A)   2/21 nit    (B)   2/21 nt   

(C)   2/21 nit     (D)   2/21 nt   

31. F-distribution curve in respect of tails is 
(A) Negative Skew   (B) Positive Skew  
(C) Symmetrical   (D) Un-symmetrical Skewed  

F-£μÁ¼ß ÁøÍÁøμ¯õÚx 

(A) Gv›øh¨ £μÁÀ   (B) ÷|›øh¨ £μÁÀ  

(C) \©a^º £μÁÀ   (D) \©a^μØÓ £μÁÀ 

32. Standard Error of the mean is 

(A) 2    (B) n/   

(C) n/    (D) /n   

\μõ\›°ß vmh¨¤øÇ 

(A) 2    (B) n/   

(C) n/    (D) /n  
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33. Wrong decision about 0H  leads to 

(A) One Kind of Error  (B) Two Kinds of Error  

(C) Three Kind of Error  (D) Four Kinds of Error  

0H  £ØÔ uÁÓõÚ •iÄ Gkzv¸¨£uõÀ HØ£kÁx 

(A) J¸ ÁøP¨ ¤øÇ   (B) C¸ ÁøP¨ ¤øÇPÒ  

(C) ‰ÁøP¨ ¤øÇPÒ  (D) |õßS ÁøP¨ ¤øÇPÒ  

34. Large sample theory applicable only when 

(A) 30n    (B) 30n   

(C) 100n    (D) 100n   

ö£¸[TØÖU ÷Põm£õmøh¨ £¯ß£kzxÁx G¨÷£õx GÛÀ 

(A) 30n    (B) 30n   

(C) 100n    (D) 100n  

35. Analysis of variance utilizes 

(A) F-test   (B) 2 -test  

(C) Z-test   (D) t-test  

©õÖ£õmk £S¨£õ´ÂÀ £¯ß£kzu¨£k® ÷\õuøÚ 

(A) F-÷\õuøÚ   (B) 2 -÷\õuøÚ  

(C) Z-÷\õuøÚ   (D) t-÷\õuøÚ 

36. An Experimental design is 

(A) A Map    

(B) A Plan of Experiment  

(C) An architect    

(D) A Statistical test  

J¸ ÷\õuøÚ ÁiÁø©zuÀ Gß£x 

(A) J¸ Áøμ£h®    

(B) J¸ ÷\õuøÚ vmhªhÀ  

(C) J¸ Pmk©õÚ®    

(D) J¸ ¦ÒÎ°¯À £›÷\õuøÚ  
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37. Indian Statistical institute started on 

(A) 1929   (B) 1930  

(C) 1931   (D) 1932  

C¢v¯ ¦ÒÎ°¯À {ÖÁÚ® xÁ[P¨£mh Bsk 

(A) 1929   (B) 1930  

(C) 1931   (D) 1932  

38. Central Statistical Organisation situated at 

(A) Chennai   (B) Delhi  

(C) Kolkata   (D) Mumbai  

©zv¯ ¦ÒÎ°¯À {ÖÁÚ® Aø©¢xÒÍ Ch® 

(A) ö\ßøÚ   (B) iÀ¼  

(C) öPõÀPzuõ   (D) •®ø£  

39. Data required for Tamilnadu State is collected by 

(A) Department of Economics and Statistics 

(B) Department Agriculture  

(C) Department Revenue 

(D) Public Works Department  

uªÌ|õk Aμ_US ÷uøÁ¯õÚ ¦ÒÎ Â£μ[PøÍ vμmkÁx 

(A) ö£õ¸Íõuõμ® ©ØÖ® ¦ÒÎ°¯À xøÓ 

(B) ÂÁ\õ¯z xøÓ  

(C) Á¸Áõ´z xøÓ 

(D) ö£õx¨ £oz xøÓ 

40. MS-Excel Command worked to calculate the standard derivation 

(A) DEVSQ   (B) STDEV  

(C) SUM   (D) MEAN  

vmh Â»UP® Põn £¯ß£kzu¨£k® MS-GUéÀ `zvμ® 

(A) DEVSQ   (B) STDEV  

(C) SUM   (D) MEAN 

––––––––––––––––––– 
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ROUGH WORK 
 


